TABELA ROBOT ZIEMNYCH

ODCINEK C-D
powierzchnia $rednia objetosé zuzycie nadmiar
powierzchnia | odle- na robét
km [m? [m? glosé [m] miejscu [m%
W N W N W N m’ | W N
0+000,00 | 0,00 | 0,00
0,03 | 0,00 | 8,00 | 0,24 | 0,00 | 0,00 | 0,24 | 0,00
0+008,00 | 0,06 | 0,00
0,04 | 0,02 | 13,00| 0,46 | 0,20 | 0,20 | 0,26 | 0,00
0+021,00 0,01 0,03
0,02 | 0,02 | 10,00| 0,20 | 0,15 | 0,15 | 0,05 | 0,00
0+031,00 0,03 0,00
0,02 | 0,00 | 950 | 0,14 | 0,00 | 0,00 | 0,14 | 0,00
0+040,50 0,00 0,00
0,01 | 0,01 | 10,00| 0,05 | 0,05 | 0,05 | 0,00 | 0,00
0+050,50 | 0,01 0,01
0,02 | 0,01 | 550 | 0,11 | 0,06 | 0,06 | 0,06 | 0,00
0+056,00 | 0,03 | 0,01
0,07 | 0,02 | 2,00 | 0,13 | 0,03 | 0,03 | 0,10 | 0,00
0+058,00 | 0,10 | 0,02
1,12 | 0,01 | 12,00 | 13,44 | 0,12 | 0,12 | 13,32 | 0,00
0+070,00 | 2,14 | 0,00
2,19 | 0,00 | 19,15 41,84 | 0,00 | 0,00 | 41,84 | 0,00
0+089,15 2,23 0,00
1,88 | 0,00 | 20,59 | 38,61 | 0,00 | 0,00 | 38,61 | 0,00
0+109,74 1,52 0,00
1,55 | 0,00 | 526 | 8,13 | 0,00 | 0,00 | 8,13 | 0,00
0+115,00 | 1,57 | 0,00
RAZEM 115,00|103,34| 0,60 | 0,60 |102,74]| 0,00




